



(4) The Steiner circles of 1st kind wit p and p* are hyperbolic straight lives (passing thro.p) Remark : Suppose that C is a hyperbolic circle. Then the family of all circles perpendicular to C and perpendicular to the unit circle 21721=13 is a family of Steiner circles of the 1st kind wrt some points p and p* (1P|<1, 1p*1>1) (Ex!) The point p is called the center of C, and the Steiner circles of the 1st kind are called the diameters of C.







The "hyperbolic distance" (see next section) of the perpendicular from C to the hyperbolic straight live is constant (i.e. independent of the starting point on C) since these perpendiculars are congruent. (Ex!) · Therefore, hypercycles are called equidistant cinves. (Ex: Compare with Euclidean geometry!) Note that T moves points along the equidistant curves from to p to g (a g to p), and hence called a hyperbolic translation. Le mique hyperbolic straight live determined by p& 2 is called the axis of translation



Summary: (A) hyperbolic circle is a curve traced out by a point subjected to elliptic transformation <> Steiner circle of znd kind wit the fixed points of an elliptic transformation (fixing (171=13)

(B) hypercycle is a curve traced out by a point subjected to hyperbolic transformation <>> Stemer circle of 1st kind wit the fixed points of a hyperbolic transfauation (fixing } (=15)

(c) horocycle is a curve traced out by a point subjected to parabolic transformation. <>> degenerate Steiner circle of a parabolic transformation (fixing 1171=13) perpendicular to dyperbolic straight lines thro. the fixed (ideal) point.

Ch9 Hyperbolic length
Def: A (parametric) curve

$$Y = Z(t) = X(t) + iy(t), t \in [a,b]$$

is called smooth if $X(t)$ and $y(t)$ are
differentiable.
• $Z(a)$ and $Z(b)$ are called end points of the
curve Y .

Def: In the hyperbolic plane, the length of a
Smooth curve X with parametrization
$$Z(t)=X(t)+iy(t)$$

ast $\leq b$, is given by
 $\left[L(X) = 2 \int_{a}^{b} \frac{(Z(t))}{(-(Z(t)))^{2}} dt \right]$
where $Z'(t) = X'(t) + \lambda Y'(t)$

Def: Let Z₁ and Z₂ be two points in the
typerbolic plane. The distance from Z₁ to Z₂
is defined by

$$d(z_1, z_2) = l(typerbolic straight line segment)$$

between Z₁ e Z₂

Remarks: (i)
$$l(x) \ge 0$$
, $\forall x$.
(ii) $| = (x) | dt = \int (x'(x))^2 + (y'(x))^2 dt$
is just the usual Euclidean integrand for
arc-length.

Thm: Let T be a transformation of hyperbolic
group and X be a smooth curve. Then
$$\mathcal{Q}(T(\tau)) = \mathcal{L}(\tau)$$
.

$$\underline{Pf}$$
: let $w = T \overline{z} = e^{i\Theta} \frac{\overline{z} - \overline{z}_0}{1 - \overline{z}_0 \overline{z}}$ ($|\overline{z}_0| < 1$, $\theta \in \mathbb{R}$)

and
$$\mathcal{V}: \mathcal{Z}(\mathcal{X})$$

Then $T(\mathcal{X}): W(\mathcal{X}) = T\mathcal{Z}(\mathcal{X})$
 $= e^{i\theta} \frac{\mathcal{Z}(\mathcal{X}) - \mathcal{Z}_0}{1 - \mathcal{Z}_0 \mathcal{Z}(\mathcal{X})}$

And
$$W'(t) = e^{i\theta} \frac{|-|z_0|^2}{(-\overline{z_0}z(t))^2} z(t)$$
 (Ex!)
[Note: $T'(z) = e^{i\theta} \frac{|-|z_0|^2}{(-\overline{z_0}z)^2}$]

$$\frac{\left[\frac{W'(t)}{(t)}\right]^{2}}{\left[-\left[\frac{W(t)}{(t)}\right]^{2}} = \frac{\left[-\left[\frac{Z(t)-z_{0}}{z_{0}}\right]^{2}\right]^{2}}{\left[-\left[\frac{Z(t)-z_{0}}{z_{0}}\right]^{2}\right]^{2}} \left[\left[-\left[\frac{Z(t)}{z_{0}}\right]^{2}\right]^{2}}$$

 \Rightarrow

$$= \frac{(-|z_0|^2)}{(|-\overline{z}_0\overline{z}(t)|^2 - |z(t) - \overline{z}_0|^2} (\overline{z}(t))$$

$$= \frac{(-(\overline{z}_0)^2}{(-|\overline{z}_0\overline{z}(t)|^2 - \overline{z}_0\overline{z}(t) + |\overline{z}_0|^2(\overline{z}(t)|^2)} (\overline{z}(t))$$

$$= \frac{(\overline{z}(t))^2}{(-|\overline{z}(t)|^2 + \overline{z}_0\overline{z}(t) + \overline{z}_0\overline{z}(t) - |\overline{z}_0\overline{z}_0]}$$

$$= \frac{(-17c)^{2}}{(-17c)^{2} - (7c(t))^{2} + 17c)^{2}(7c(t))^{2}} (7c(t))^{2}}$$

$$= \frac{(-17c)^{2}}{(-17c(t))^{2}} (7c(t))^{2}} (7c(t))^{2}$$

$$= \frac{(7c'(t))^{2}}{(-17c(t))^{2}} (17c(t))^{2}} (17c(t))^{2}$$

$$= 2\int_{a}^{b} \frac{(10c'(t))}{(-17c(t))^{2}} dt = l(8)$$

$$= 2\int_{a}^{b} \frac{(7c'(t))}{(-17c(t))^{2}} dt = l(8)$$

$$M$$
Distance formula

Case 1
$$d(0,z) = ln \frac{|t+z|}{|-|z|} = log \frac{|t+z|}{|-|z|}$$

. Ø

Pf: The Euclidean straight
line segment is the Reperbolic
straight line segment in this
Case . Hence
$$d(0,z) = l(x)$$

where
$$\gamma = \overline{z}(t) = t\overline{z}$$
, $0 \le t \le 1$.

$$\Rightarrow d(0,\overline{z}) = 2 \int_{0}^{1} \frac{|\overline{z}(t)|}{|-|\overline{z}(t)|^{2}} dt = 2 \int_{0}^{1} \frac{|\overline{z}|}{|-|\overline{t}|^{2}|^{2}} dt$$

$$= 2 \int_{0}^{|\overline{z}|} \frac{dr}{|-r^{2}|}, \quad \text{latting } r = t|\overline{z}|$$

$$= ln \frac{|\overline{t}|\overline{z}|}{|-|\overline{z}|} \qquad \text{withing } r = t|\overline{z}|$$

$$d(\overline{z}_{1},\overline{z}_{2}) = ln \left(\frac{|t + (\frac{z_{2} - \overline{z}_{1}}{|-\overline{z}(\overline{z}_{2})|})}{|-|(\frac{z_{2} - \overline{z}_{1}}{|-\overline{z}(\overline{z}_{2})|})} \right)$$

$$Pf = tt = e^{\overline{t}\theta} \frac{\overline{z} - \overline{z}}{|-\overline{z}(\overline{z}|)} (auy \theta)$$

$$Then \quad T\overline{z}_{1} = 0$$
By invariance of l , we have $d(\overline{z}_{1},\overline{z}_{2}) = d(T\overline{z}_{1},T\overline{z}_{2})$

$$= d(0, Tz_{2})$$

$$= ln \left[\frac{+|Tz_{2}|}{|-|Tz_{2}|} \right] (by case 1)$$

$$= ln \frac{|+|\frac{z_{2}-z_{1}}{|-\overline{z}_{1}z_{2}|}}{|-|\frac{z_{2}-z_{1}}{|-\overline{z}_{1}z_{2}|}}$$

$$\frac{\text{Thm}: \text{Let } Z_{1}, Z_{2}, Z_{3} \text{ be points in the typerbolic plane.}}{\text{Then (1) } d(Z_{1}, Z_{2}) \geq 0}$$

$$(2) \quad d(Z_{1}, Z_{2}) = d(Z_{2}, Z_{1})$$

$$(3) \quad \text{If } Z_{1}, Z_{2} \text{ and } Z_{3} \text{ are } \underline{\text{colluear}}$$

$$(\text{in the order})$$

$$\frac{Z_{2}}{Z_{1}} = \frac{Z_{2}}{Z_{3}}$$

$$d(Z_{1}, Z_{3}) = d(Z_{1}, Z_{2}) + d(Z_{2}, Z_{3}).$$

colinear : Z, Zz, Zz on the same Aypenbolic straight line)

Pf = (1) & (2) are clean. Pfof(3): Let T be a transformation of hypubolic geometry taking Z1 to 0 and the hyperbolic straight line passing thro, Z, Z22Z, to the (positive) X-axis. Then TZ=0, TZ2=12 and TZ3=13>tz $(with r_2, r_3 \in [0, 1))$ $F_{z_1} = 0 \qquad r_z \qquad r_$ Then $d(z_1, z_3) = d(0, r_3)$ $= 2 \int_{-1-r^2}^{r_3} \frac{dr}{1-r^2}$ $= 2 \int_{-r^{2}}^{r_{2}} \frac{dr}{r^{2}} + 2 \int_{-r^{2}}^{r_{3}} \frac{dr}{r^{2}}$ $= d(0,r_{z}) + 2 \int_{r}^{13} \frac{dr}{(-r^{2})^{2}}$ Note $d(z_2, z_3) = d(r_2, r_3) = ln \left[+ \frac{r_3 - r_2}{1 - r_3 r_3} \right]$ $\left|-\frac{r_3-r_2}{r_2}\right|$

$$= \ln \frac{\left| \frac{1}{1 - r_{z}r_{z}} \right|}{1 - \left| \frac{r_{z} - r_{z}}{1 - r_{z}r_{z}} \right|} = \ln \frac{1 - r_{z}r_{z} + r_{z} - r_{z}}{1 - r_{z}r_{z} - r_{z} + r_{z}}$$

$$(since \quad 0 \le r_{z} \le r_{z} < 1)$$

$$= \ln \frac{(1 + r_{z})(1 - r_{z})}{(1 - r_{z})(1 - r_{z})} = \ln \frac{1 + r_{z}}{1 - r_{z}} - \ln \frac{1 + r_{z}}{1 - r_{z}}$$

$$= 2 \int_{r_{z}}^{r_{z}} \frac{dr}{1 - r^{2}}.$$

 $d(z_1, z_3) = d(z_1, z_2) + d(z_2, z_3) \cdot X$

This let ZIR Zz be points in the hyperbolic plane. Then the shortest conve (in hyperbolic length) connecting ZIEZZ is the hyperbolic straight line segment jouring Z1 & Z2.

We may assume
$$Z_1 = 0$$
 and $Z_2 = r \in (0, 1)$
(by a transformation)
Let T be a (smooth)
curve joining 0 and r
with parametrization
 $Z(t) = X(t) + i Y(t)$, $a \le t \le b$

with
$$\begin{cases} 0 = z_1 = Z(a) = X(a) + iy(a) \\ F = Zz = Z(b) = X(b) + iy(b) \end{cases}$$

 $\implies \int X(a) = Y(a) = Y(b) = 0 \\ X(b) = F$

Then
$$l(x) = z \int_{a}^{b} \frac{|z(t)|}{|-|z(t)|^{2}} dt$$

= $z \int_{a}^{b} \frac{\sqrt{(x'(t))^{2} + (y'(t))^{2}}}{|-(x(t))^{2} - (y(t))^{2}} dt$

$$\geq 2 \int_{a}^{b} \frac{\sqrt{(x(t_{s}))^{2}}}{1-x(t_{s})^{2}} dt$$

$$= 2 \int_{a}^{b} \frac{1x'(t_{s})1}{1-x(t_{s})^{2}} dt$$

$$\geq 2 \int_{a}^{b} \frac{x'(t_{s})}{1-x(t_{s})^{2}} dt$$

$$= 2 \int_{x(a)}^{x(b)} \frac{ds}{1-x(t_{s})^{2}} \text{ where } S = x(t_{s})$$

$$= 3 \int_{x(a)}^{x(b)} \frac{ds}{1-s^{2}} \text{ where } S = x(t_{s})$$

$$= 3 \int_{x(a)}^{x(b)} \frac{ds}{1-s^{2}} = 3 \int_{x(a)}^{x(b)} \frac{ds}{t_{s}} = x(t_{s})$$

$$= 2 \int_{0}^{1} \frac{ds}{1-s^2}$$

$$= l_{1} \frac{l+r}{l-r}$$

$$= d(0,r) = d(z_{1}, z_{2})$$

$$= d(z_{1}, z_{2}) = l(typerbolic straight line)$$

$$\therefore l(r) \ge d(z_{1}, z_{2}) = l(typerbolic straight line)$$

$$= l(r) \ge d(z_{1}, z_{2}) = l(typerbolic straight line)$$

Note: If fact, if l(x) = d(0,r)then $y' \equiv 0$ and $y \equiv 0$

and
$$\chi'=1\chi'1>0$$

 \Rightarrow after transformation, $\gamma = \chi$ -axis between
0 and $+$ (in the increasing direction)
 $\Rightarrow \gamma = hyperbolic straight line
segment Joining $z_1 e z_2$$



Corollary (Triangle Inequality)
For any 3 points
$$z_1, z_2 \ge z_3$$
 in the
hyperbolic plane,
 $d(z_1, z_3) \le d(z_1, z_2) + d(z_2, z_3)$
(PS : Ex!)